EAGRAROBREERT — 2 N— ABISH —F

2020 12A58 (&) 5EFIUTH

BN v >xom *B7 (Ra) (er Bk

‘ [R1%] /J\Eﬁ‘ [REBE] — | & (%) 12000 4=

[A~&£] 1 7% :5,100,000  ~ 23 :2,000,000 § 3 7 :1,300,000 M

/43 :770,000 5 & :510,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
ENEAS 112, - . . EiEER (ER)
B 7T E Y B2 A 1(1_2)3 1-1 38.2| 86.9 | 2 ;1_328) shiE &
/4o BhI YrX— H—L— - TxIN> - T7—LARE
S = B 2 | FlBEX 1:12.8 4-3 38.1| 82.6 | 3 452 | KRS (EiH)
215 O>7y+v—= 54.0 3) (-6) | FELLIRAL
LE—UR BNLFIH = St
= iy o2 | AEBH 1:13.0 2-2 38.8| 81.0 | 5 492 | SHEET (EH)
2 ¢ IR Sl #c54.0 (1 1/4) o) | R JATEF—45TLy KR
LE-UR BHALLIIZYY Rt ais
NN HIDa1E : — PEELREN (EH)
N RIEEESPTES: o2 =3 1.(123).3 6-6 38.4| 78.1 | 1 (i?i) b
R:4/L¥ R BiFIET BH #78
L= 2 | EHEA 1:13.8 4- 1| 741 12 4 IEEFE (/)
sl 7| LY TR e 54.0 @ S <+340) &) SNT7—i
L:iwyVgddyR BiAT=ZTIXb RS
8 S LS FAEHE 4. — . . REEER (ER)
6714/ —FNMFUET "2 5D (4 ) RO Rt A B A 7t
Rib—trya—4> BF4TF7HFUT— FATLANITT
3,5 = 2 | REN 1:14.2 10-9 38.9| 70.5 | 10 472 | DOEELR ()
d > FIRZEE VA =N {:) * 452.0 (7t (9 | TESR=A-LF TR @)
R:TIvIEAF B:UUF—L Frilissis
N . panzclaich) : - BB (EH)
gl 11 gy 45ydax # o2 = (11.114/.24) 13-11 38.6| 68.7 | 9 (5:)26) i
NPT SY BAav XUy T =t -ye
N — LEHAR 4. — . . REEE (E)
9 5| FUSTLTH o2 = 1(31/42)6 12-11 38.9| 67.2 | 11 ﬁ) nERR
L7774 B:XVIYFTIIY TEHS
j s =i 2 | BEET 1:14.7 6-6 39.8| 67.2 | 6 480 | HBMRER (i)
10/5|10| 7V —A=F=7 54.0 (172) () | HETRE
LB/ vTe BT LI T TREF S
SRR st 2 | HILFE 1:14.8 8-8 39.7| 66.2 | 13 474 | FREE (ER)
159 ¥a>>a7 [B] 5.0 vE Cay | B) 75> ka0
L:ZTNZXa— B:Id—-LVFFIAX J7r NiiE
e A= s IRHEE : — MEE—B (/)
120012 V> RTT > "2 (12'115/'22) e 0.7 sa T g‘) I —
L:U—=FHI59> Biwbh/ LTI #FH BB
3 # 2 | WSEFER 1:15.5 11-11 40.1] 60.9 | 14 454 | AEE (EH)
13/8|16| E—FYUV—H 54.0 1 1/2) o | ) SRTr-n
R:H>h—0 B E—FIN—F 41— EARKES
e, — £y 2 | HHNE 1:15.8 15-15 [ 39.2| 57.4 | 15 | 478 |FOEHIE—EB (X&)
EE 4 R g - 55.0 (1 3/4) (+o) | FIEHIEE
L:a2=—/xLLy b BilLy Rg—%— HiE  ERA
. — . AIEI5 . — Wk (ER)
5l7l13l 1 —F25> [B] it 2 o 1.(115>.9 13-14 | 40.1| 57.4 | 8 &2} o
RiH I v Te BiAx /Y4 —F2 HiE4S
= s I\ERAE : — K5 ()
6112/ 73vyake—n- o2 Al 1.(156).7 16-16 [ 39.4| 50.2 | 16 (15132) EE%%E
R:TIAY>T5yva BARANT 1/ A =
@ 71 L
) 49.7-38.2
NA>Z4 L | 11.9-10.7-11.5-12.3-12.5-13.4
@ 1 — S —&EBlIEf
13—7+—
20—7—
Fol=5r= (¥6,11)-12(7,15) (10,8) (14,9)3,16-5(1,13)-4-2
40—4— (¥6,11)-(12,15)7(10,8)9(3,14) (1,5,16) 13-4=2
[ N3
BB 6 320M 714K 6-15 370M e E 3-8 640M JEHE 6-11-15 3,970/
18 B 6 1209 6-11 900M B = 6-15 790M K31 6-15-11 11,310
15 180 11-15 1,008 | | B & 6-15 1,300/
1 310M

ABRICOVTHRTEEERROODE, THEB LS,




